2012/2013 5. test G2A

Test G-2-5.0

| POTENCE, KORENI

'3§y1.

Izracunaj. Rezultat naj bo tocen.

a) 816 - 815 : 811 (3)

b) vV2- V4. V2 (3)
1\ 2 1\ ®

d) A+ B,ceje A=0,4"2+ <2> ,B = (—5> : 25. (4)
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Izracunaj vrednost izraza:

0
10, [a+h) +(a+b)7t e jea=8,b=+18 (4)
a

b) Vab? - Va3b=10 : /ab, e je a = 888,b = 444

,53.

Resi enacbo:

a) 2r — 1 = —/4x + 33 (3)
b) Yr+1+2(Ve+1)" =3 (4)
c)Vr—3=3—-x
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A4
Poenostavi:
az+2 + a:c+1 —2a%
a)

att2 — 4q*

b) Vaval:\/a¥a (3)
c) ™/ (@m)"
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,ﬁa
Racionaliziraj:
) 20 o)
Y = ¥
C 71 . -1
) TR (V7 +5) (4)

é Kriterij ocenjevanja:
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